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1) LEO the lion says GER –

LEO = 


GER =



2) Draw a circle around the element being reduced and a square around the element being oxidized in the following reactions:


Zn + 2H+  Zn2+ + H2


2Al + 3Cu2+  2Al3+ + 3Cu


3) Give 3 examples of corrosion that you’ve experienced in real life:




4) What are 2 ways of protecting a material against corrosion?




5) Split the following reactions into their anodic and cathodic half-reactions:


Zn + 2H+  Zn2+ + H2

Anodic (element being oxidized):

Cathodic (element being reduced):


2Al + 3Cu2+  2Al3+ + 3Cu

Anodic (element being oxidized):

Cathodic (element being reduced):


[image: ]


[image: ]
image1.png
TABLE 17.1 Standard Reduction Potentials at 25
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CORRODED END
(Anodic or less noble)
Magnesium
Zinc
Aluminum
Steel
Lead
Tin
Nickel
Brass
Bronzes
Copper
Stainless Steel (passive)
Silver
Gold
Platinum
(Cathodic or more noble)

PROTECTED END
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